
tWl l/2527

2)  ‘Iuni~nanoUnlsln’i~uu~~  k binomial proportions t.iihnan8U

Ho : p, = p2  = . . . = pk, k > 2 15lt~~a?na~o=r9’lUnl~n~aoU

4) $1  z - N(0.  1) 11%  X2  - xz  ll#a  Z/Jx%:  9zih?~ulfIu~JlllJUfsI  6% degrees

of freedom h6JOfdXJ

5) 9lfl Model 1 : py,x = Bo+~, x 1lD::

Mode’  2 : ~ylx,,  XI,  x3 = Bo+Blxl+/32x2+83x3

l&Jtl Model 1 41 Simple regression model d?u  Model 2 I~llhfdlD:~~

6) Olfl  Model 1 h&J  5) 15lliun Y +(ii?lllh99lll  (dependent variable) 13l!%fl

x llnz~,  hz13

ST 204 (HI 1 7 3
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X 1 2 3 4 5 6 7 t3 5-Ju

41umn% 136 6 0 34 1 2 9 1 3 1 256 = 2’

1 7 4 ST 204 (H)



HUlUIHVj  f+l X -Geometric (p  = $

Pr [ X = x ] = p”-’ q , x = 1, 2, . . .

= (i)” = 3, x = 1,2,  . . .

ilnldn~l

1

\:

La\
5-JlJ

F phi fphm=l1a nlJU-lfl

I

17

19

2 9

2 5

9 0

‘ST  204 (El) 1 7 5



x 1 1 1 2 3 3 4 5 5

Y 9 7 8 1 0 15 1 2 1 9 24 21

TX XI = 25, Z Yi = 125  , X = 2.78 , S,x = Z (x,-T)' = 27.56

z X; = 91, x Y: = 2041, 7 = 13.89, SYY  = Z (yI- y)’ = 304.89

IL  XiYt  = 426 Sx,  = Z (x,--x) (yi-3 = 78.78

176 ST 204 (I-0



Assumed model : JQ  = PO +plx

1) 41 bl  = 2.86 Will bo tttX1h.1 prediction equation

2) n'ltlun  SSR = bl Sxy  = 225.31

9d14F1151~  ANOVA  ~nu~~tiit~o9~unlsn~~olr~  a = .05

2.1) Ho : /31 = 0 (n”lnu~~luoJ~as’?nd~~u~~5n~~~U~~ = 19.82) II%

2.2) HO : ‘Idi  lack of fit (n’inu~n’iuoJm’?nli~~u~l5n~~~~~~  = 8.31)

i = l, . . . . 4 ll?lz j = 1, . . . . 5

G2  = 38025

ST 204 (Ii) 1 7 7



S.V.

Treatments

Error

Total

ANOVA

d.f. S.S. M.S. f

1 6 3.125

~~~=.OS,(d.f.9103SSE)=16,n~=tb=  . . . . =n4=5=n

R,=r, MSE = .79 rP
n

2 3 4

I:’

2.998 3.144 3.235

2.368 2.484 2.556

1 7 8 ST 204 (I+)



1) (1-a) 100% C.I.UU~  0  80 , In-l)?

(

(n-l)?

/
A-1

9
xh 1,l  -u/2 )

2) (I-u)1cyo  C.I.VfJ~  a;/a;  do s;

(

1 ’ St f(vf”*),p
7f2 (vI.v2).p

2
St )

3)

4 ) S S T  =  IEyF- (Zyi)*/n  ,  S S R  =  b&

5 )

I

Xf  = (n-l)? 3  Xf  = ”  (Oi-ei)2  , Xf  = bfS( Oij-eij)’

Tt
I I

e i eij

SS (p.e.1  = ilSSi = :, (E,(Yij - Fi)’

I ni
S S T  = $X,X$  G ,  N  = &ni

‘5,
\,I

N

SStr  =  %$z-  & ,  R, =  r,, M S E
ni N J- i i -

,

ST 204 (HI 1 7 9



1 . 1) i-,. ki,: fil=pZ=  . . . . . =pk

U. H,: 4=c+

2) chi  square distribution %i d.f. = n

3) Chi square

4) t distribution i?il  d.f. = n

5) Multiple regression model

6) x lb+Jllll5&T5~  11tlz/% do~~J5~dn~“lr”noo”

7) l~dUFl54,  t distribution Ad d.f. = n-2

8) iii1~51=~n?lult~5~s?ws'?u

a) n+&=fr  H, i (Y = .05

10) (3x4), fll5Vl@ltNM-Jllllh&fsz,  d.f.  = (3-1)(4-l) = 6

.

3. 1 ) @yNiJnv%~a’  2.9

2) H, : 4 = 49

HI : <>  49

(Y  = .05

CR : X2>X2~s,.o~  = 24.996

x: = (n2-1)s:  = 15 (64) = 19.59
49 49

,\
ST 204 (H) 1 8 1



3) H, : c$=u;

HI  =<#G$

a  =  .02

CR : F>f(wn,.ol = 3.21 II~X  F <fCt1.,5),.w  = 1 = 1 . 3 4 6
f(15.24)..01 2.89

fc =$ =+ = 1.2656

‘:fc < 3.21 13lbh~ld@n~  H,  ?&j  (y= .02

b,  = 2.86 (fhwum%w”)

bo = y-b$  = 13.89 - (2.86) (2.78) = 5.94

:.̂ y  = 5.94i2.86 x

fhum SSR = 225.31

SST = Syy  = 304.89

:.SSE  = 304.89 - 225.31 = 79.58

Hl SS (p.e.)  = 11 ($8  5.4)

.‘.SS (lof)  = SSE - SS (p.e.) = 79.58-11 = 68.58

ANOVA

S.V.

Regression

Error

Lack of fit

d.f. S.S. M S f

1 225.31 225.31 fl = 225.31 = 19.82
11.37

7 79.58 11.37

3 68.58 22.86 fi = 22.86 = 8.31
2.75

Pure error 4 1 1 2.75
, , ,

Total 8 1 304.89

182 S T  2 0 4  (IS)



2.1 H, : fil=O

H&I  #O

a = .05

CR : F>fc1.7),.os  = 5.59

fc = fl =. 19.82 (fhwuA(I$)

‘:f,>5.59  151I&fl8  H, 4 a=.05  &hi  X 68uln~UoJWn  Y

5. l.H, :pj=pz=....=  /i4

HI : i mean Uu’ldW  1 f?‘b.hVhk

a = .05

CR : F > f<3,16).  .05  = 3.24

S.V.

Treatments

Error

Total

ANOVA

d.f. SS M S f

3 43.75 14.5833 f, = 4.667

(16) 50.00 (3.125)

19 93.75

ST 204 (El) 183



-

‘.‘fc =  4.667>3.24  nlh$fn  H,  d a = . 0 5  I;“wdQtniQ&& 4  blurs’?

mi4”fu”nw~a~rj~n’lni

2) n,  = . . ...=  II4  = 5 = n

d.f.9104  error = 16

R, = .79 rP

ii Duncan’s new multiple range test

1)  liuJi=h&lx  olflw'ou~¶JnllJl"
- -
x2 x4 xr x3

8 9 IO 12

2 )  :j  -% =  4>R4=2.556
; *

uum /A3 #/I2

x3-%=3>Rj=2.484 UiJm p3 f/l4

X3 -%=2<~~=2.368
L 4

UURO  p3=j.l,
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